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&5 X 4 ﬁq‘c‘; Tﬁﬁ“ﬁh\(‘z)(bﬁﬁ}%ﬁ jj(giatf)é X 4 —Fﬁﬁﬁg}gl:zg)n;KEF i&; jj(ﬁl?(n?)é X 4 ﬁq&; J:ﬁn“ﬁ;ﬁ\(‘z)(btt‘r%' jj(giatf)é X 4 J:ﬁﬁ;ﬁ\(‘z)(btt?%' i&; jj(ﬁl?(n?)é
P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 4.72 58.89 | =nst | 0oo ~ 472 | 1.80 912 st 1.00 | 6.00 ~ 5.00 5889 | #nhst | 5,00 ~ 6.00)| 1.80 912
2 100kN/m%E#B25| 1.00| 000 ~ 1.25| 11896 |3mZEBz2B| — ~ — — — | 100kN/m%x#%25% | 1.00 | 1056 ~ 1465 11896 |3mE#BZb - ~ — — —
Thilst 100|125 ~ 9.04 100.00 | Fhst | 000 ~ 9.04)| 2.15 10.87 Thilst 100|500 ~ 1056 100.00 | TnLsSt | 5,00 ~ 1465| 2.15 10.87
3 100kN/m%E#B25 | 1.00| 000 ~ 283\ 144.84 |3mZE#BZB| — ~ — — — | 100kN/mM%E#%25 | 1.00 | 1055 ~ 2400| 144.84 |3mE#BZD - ~ — — —
FhLst 1.00 | 283 ~ 1062 100.00 | FnhLS | 0.00 ~ 1062 2.75 13.88 st 1.00 | 6.00 ~ 1055 100.00| FnLS | 6.00 ~ 2400 2.75 13.88
4 100kN/m%E#8z5 | 1.00 | 000 ~ 280 144.33 |3mZz#Bz23| — ~ — — — | 100kN/m%#BZ% | .00 | 1086 ~ 3024 144.33 |3mEBZ D - ~ — — —
s 1.00 | 280 ~ 1059 100.00 | #NLS | 000 ~ 1059 2.99 16.11 s 1.00 | 5.00 ~ 1086 100.00 | =nhst | 6.00 ~ 3024 2.99 16.11
5 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 4.76 59.33 | #nS | 000 ~ 000|177 8.94 ThList 1.00 | 6.00 ~ 56.00 59.33 | =nhS | 5.00 ~ 500\ 1.77 8.94
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhs ~ ZhnLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




